How mary grams in a kilogram? (rememhber to think ahout what

l'-’ 2

1000g = lkg

Like Last week, we are using ouwr knowledge of multiplying .and
dividing by 1000 to corwert these measurements.

Why is this useful?
You might be asked a question where the units are different.
Y,ounLLg}Ltbzm.aJWLg,a,cake/fchpzmud}mz,to scale it up to feed

more pzoplz

The bar model shows that 1 kg is equal to 1,000 g. 1 kg o
Use the bar models to complete the conversions. 1,000 g
a) [ kg 1 kg 1 kg

3 kg = g
b)I 1kg | 1kg | 1kg | 1kg | 1kg

5kg = g
)

1,000 g 1,000 g 1,000 g 1,000 g kg = 4,000 g

Answer:




The bar model shows that 1 kg is equal to 1,000 g.

1 kg

Use the bar models to complete the conversions. 1.000 g
a)
1 kg 1 kg 1 kg
3 kg = g
b)
1 kg 1kg 1kg 1kg 1kg
5 kg = g

When corwerting, you can use the bhar model to help .or look hack
ot Fridoys notes for mowving digits to X and + hy [000.

Now hove a go .at these:
Hawve practice of these fluency questions - some are kg to g and

Aome km to m:

Complete the conversions.

a) 18 kg = g

b) 18 km = m

c) 21,000g = kg
d) 32,500 m = km
Answer:

Complete the conversions.

a) 18 kg = : Q

b) 18km = : m

c¢) 21,000 g =

d) 32,500 m =

kg

km

e)

9)

h)

e) 11.5km= m

f) g=41.2 kg

) g =0.1kg

h) 100 km = m

11.5km = m
g=412kg
g=0.1kg

100 km = m




Now have a go at this word problem:
Remember to

- Read the .question carefully

- Underline .any important information

- Choose which calculation you might use to solve it - you
might use the bar model to help or draw a picture

- Solve the calculation

- Answer the question (rememhber to include units)

- Check you answer - does it make sense? Use the irwerse or
rounding to check your calculation.

A bag of apples weighs 600 g.

How much do 8 bags of apples weigh?
Give your answer in kilograms.

This problem has more than one step to solve it.
What is the first calculation you need to .do?
When .do you need to complete a .corwersion?

Answer:

Firstly:

8 hags at 600g. I need to complete .o multiplication.
6 X 8 = 48

600 X 8 = 4800 (or 48 X 100 hecauwse 600 is 100 times higger
than 6)



As I need to give my answer in kg and currently I have 48004g I
need to complete the calculation

4800 + 1000

Remember I can wse a place value mat to help. As I .am dividing
by 1000, the digits need to .monve 3 places to the right.

Th T (0] . t
Thousands Tens Ones Decimal point tenths

- |1 B 00
4] .| 8

So .my answer is 4.8Kg

Now have a go at Maths Activity |. Solving w.ord problems
irw,ol/v,mg corwerting .measurements

What words can you think of containing the prefix milli'?
Some might include, .millimetre or milligram.
What do you think ‘milli’ means?

Children focus on the use of milli- in units of length and mass.

They understand that milli- means ﬁ

What other prefix means a similar thing to ‘milli’?
K.ilo




So,

1000 millimetres = | .metre
1000 millilitres = | litre

Use your knowledge of corwerting hetween Jag/,g and km/m to

complete this fluency .question:
The bar model shows that 1 m is equal to 1,000 mm. 1Tm
Use the bar models to complete the conversions, 1,000 mm
a) Tm Tm Tm Tm Tm Tm
6bm= mm
Bl 1m [ 1m | 1m
3m= mm
o)
1,000 mm | 1,000 mm | 1,000 mm | 1,000 mm | 1,000 mm
m = 5,000 mm

Answer:



. 1m
The bar model shows that 1 m is equal to 1,000 mm.
. 1,000 mm
Use the bar models to complete the conversions.
a)
Tm Tm Tm Tm Tm 1m
00 i, 0 min | 1,000 | 000 men | 1,000 mpw | 1,000 mm
em=| £ 000 mm
b)
1m 1m 1m
A0 m 000 min 100 mirn i
3m=| 3,000 |mm
c)
|.-_,-.I [ al | LR I| hA | L d
1,000 mm | 1,000 mm 1,000 mm | 1,000 mm | 1,000 mm
2 [ m = 5,000 mm

You could also use a number line to help:

o Fill in the missing values to convert between metres and millimetres.

1 1.5 4.6 12.8

100 1,000 4,000




o Fill in the missing values to convert between metres and millimetres.

1 1.5 - 4.6

12.8

mim

L}

¥

100 1,000 o 4,000

Think about which way is easier for you to understand the

corwersion. Hove o go at this question:

Alex and Jack are converting 3.5 m into millimetres.

I'm going to use
bar models.

I'm going to use a
double number line.

2

a) Complete both methods to show that they get the same answer.

Alex's method Jack’s method

b) Complete the conversion. 35m=

c) Whose method do you prefer?

Explain your answer.

mim



o Alex and Jack are converting 3.5 m into millimetres.

I'm going to use
bar models.

I'm going to use a
double number line.

P
I\\h Jack

a) Complete both methods to show that they get the same answer.

Annie's method Jack's method

\

Y

b) Complete the conversion. 3.5m= mm

¢) Whose method do you prefer?

Explain your answer.

Using either .of these methods, complete Activity 2 to corwert the
measurements.

Think .ahout yesterdays lesson. The same .corwersion happens to
corwert hetween mm .and m or ml.and L. From what you practised

a) 15m = mm e) 11.05m= mm
b) 151 = mil f) ml=71251
¢) 63,000 ml= | g) mm=0.1m

d) 47,500 mm = m h) 1001 = ml




Answer:

Complete the conversions.

mm

ml=71.251

mm=01m

a) 15m= mm e) 11.05m=
b) 151 = ml f)

¢) 63,000 ml = I g)

d) 47,500 mm = m h) 1001=

mil

We .can .also wse our knowledge of froctions

What is % of 10007 500
What is % of 1000? 250
What is % of 1000? 750
What is 1—10 of 10007 100

AN our corwersions:

31+§1= ml 20+

Answer:

ml= 2500 ml



3250ml 2L+ %B.ml

Now have a go at designing a smoothie using this knowledge -
Activity 3. The instructions are on the sheet.

Remember, when we .are solving word problems we need to imake

AUre we!

Read the question carefully

Underline .any important information

Choose which calculation iyou might use to solve it - ayou
might use the bar model to help or draw a picture

Solve the calculation

Answer the question (rememhber to include units)
Check syou answer - does it .make sense? Use the irwerse .or
rounding to check syour calculation.

Using the information learnt over the last couple of days, have o
go ot solving the word problems attached to Lesson 4 .activity.
Some .0f them a trickier than others, so make sure you have a go
at .all of them.

How many millimetres in a metre?

How many metres in .a km?
The .answer to hoth of these is 1000.

H,ownw,n,gmm,am?

H,owmn,gmm,am?

Watch this wvideo to help you answer:



https://www.bbc.co.uk/bitesize/topics/z4nsgk7/articles/zqf4cwx

These are the useful .corwersions:

The metric system is used to measure the length,
weight or volume of an object. Length is measured in

millimetres (mm), centimetres (cm), metres (m) or

kilometres (km).

e JTam=10mm
1 m=100cm
1 km = 1000 m

1 cm is about the width of a staple

1 m is about the width of a single bed

Read these measwrements on a ruler .and then corwert them

hetween cm/mm. You will need to X 10 or + 10 for these

LOIWLLALONA.

How long is each line?

Give your answer in both centimetres and millimetres.

a)

1 2 3 4 5 6 7 8 9 10
b)

1 2 3 4 5 6 7 8 9 10
c)

1 2 3 4 5 & 7 B 9 10
d)

1 2 3 4 5 & 7 &8 9 10

Answer

cm

cm

cm

om

mm


https://www.bbc.co.uk/bitesize/topics/z4nsgk7/articles/zqf4cwx

L

o 1 2 3 4 5 6 7 8 9 10

Do [
b)
1 2 3 4 5 6 7 8 9 10
L
b 1 2 3 4 5 6 7 8 9 10
B [
d) ' 1
b 1 2 3 4 5 6 7 8 9 10
o [

In todays lesson, we are not just multiplying .and dividing by
1000. You will need to decide whether you need to .multiply .or

divide by 10,100 .or 1000 to make you corversions.

Add the calculation to need to .do to complete these .corwersions.
The first one has heen .done for you:

Calculation

100 cm > Im

=100

lem > 10mm

[000m > l[km

2m > 200.cm

5cm > 50mm




Answer:

Caolculation
100 cm > Ilm + 100
lem > 10mm X 10
1000m > lkm + 1000
2m > 200cm X 100
5cm > 50mm X 10

N.ow .choose which calculation you need to do to complete these

LOIWLRLALONA:

Complete the conversions.

a) 15¢cm = mm e) cn=0.2m

b) 12 m= cm f) 465 m= om

c) 16.5m = cm g) 52,000 mm = cm

d) mm = 165 cm h) 52,000 mm = m
Answer:

Complete the conversions.

a) 15cm = mm a) em=0.2 m
b) 12m= cm f) 465m= cm
c) 16,5 m= cm g) 52,000 mm = cm

d) mm = 165 cm h) 52,000 mm = m




Now have a go at Maths Activity Lesson 5.

It is a Toarsia puzzle. You need to print it out, .cut up all the
triangles .and then try and place it hack together so .matching
sides are equal. Try without looking hack .at the complete sheet
which is the answer). To make it harder a grown up could print
and cut it up hefore you have o go at completing .it.



